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(  )1.Which of the following statements refers to management accounting information?(A)There are no regulations governing the
reports. (B)The reports are generally delayed and historical. (C)The audience tends to be stockholders, creditors, and tax
authorities. (D)It primarily measures and records business transactions.

( )2.Cost allocation is: (A)the process of tracking both direct and indirect costs associated with a cost object (B)the process of
determining the actual cost of the cost object (C)the assignment of indirect costs to the chosen cost object (D) a function of cost
tracing

()3.Using activity-cost rates rather than department indirect-cost rates to allocate costs results in different product costs when: (A)a
single activity accounts for a sizable portion of department costs (B)there are several homogeneous cost pools (C)different
activities have the same cost-allocation base (D)different products use different resources in the same proportion

( )4.Budgeted production depends on: (A)the direct materials usage budget and direct material purchases budget (B)the direct
manufacturing labor budget (C)budgeted sales and expected changes in inventory levels (D)the manufacturing overhead costs
budget

( )5.To reduce budgetary slack management may: (A) incorporate stretch or challenge targets (B)use external benchmark
performance measures (C)award bonuses for achieving budgeted amounts (D)reduce projected cost targets by 10% across all
areas

% The following information applies to Questions 6 through 9:

Matthew’s Corporation manufactured 10,000 golf bags during March. The fixed overhead cost-allocation rate is $20.00 per
machine-hour. The following fixed overhead data pertain to March:

Actual Static Budget
Production 10,000 units 12,000 units
Machine-hours 5,100 hours 6,000 hours
Fixed overhead cost for March $122,000 $120,000

)6.What is the flexible-budget amount? (A)$100,000  (B)$102,000 (C)$120,000 (0)$122,000

)7.What is the amount of fixed overhead allocated to production? (A)$100,000 (B)$102,000 (C)$120,000 (D)$122,000

)8.What is the fixed overhead production-volume variance? (A)$2,000 unfavorable (B)$18,000 favorable (C)$20,000
unfavorable (D)$22,000 unfavorable

( )9.Fixed overhead is: (A)overallocated by $2,000 (B)underallocated by $2,000 (C)overallocated by $22,000
(D)underallocated by $22,000

( )10.Costs that result from a company's ownership or use of facilities and its basic organizational structure are termed:
(A)discretionary fixed costs. (B)committed fixed costs. (C)discretionary variable costs. (D)committed variable costs.

( )11.The underlying difference between absorption costing and variable costing lies in the treatment of: (A)direct labor.

(B)variable manufacturing overhead. (C)fixed manufacturing overhead. (D)variable selling and administrative expenses.

()12.In the calculation of manufacturing cycle efficiency, which of the following activities results in value-added time? (A)MoVing.
(B)Processing. (C)Inspection. (D)Waiting.

( }13.Decentralized firms can delegate authority by structuring an organization into responsibility centers. Which of the following
organizational segments is most like a totally independent, standalone business where managers are expected to "make it on their
own"? (A)Cost center.  {B)Revenue center. (C)Profit center.  (D)Investment center.

( }14.The basic idea behind residual income is to have a division maximize its: (A)earnings per share. (B)income in excess of a
corporate imputed interest charge. (C)cost of capital. (D)cash flows.

( H15.A demand-pull system in which each component in a production line is produced immediately as needed by the next step in

- the production line is referred to as" (A)just-in-time purchasing (B)materials requirements planning (C)relevant total costs
(D)economic order quantity '

HHE A FE



& - HEREE - 70 4

— ~ RE R

- XERAE TR RS TR S0 B FEUARRARER c &/ NES > 205
1. time-driven ABC

2, Target costing

3. Lean manufacturing

4, Business process reengineering
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